

$$\frac{(-1)^r + (-1)^t}{1+s^2-1} = \{u\} \text{ over } \{1-2s+s^2+s^2-1\} = \{u\} \text{ over } \{2s\}$$

$$M: \{u\} \text{ over } \{(1-s)(1+s)+s^2-1\} = \{u\} \text{ over } \{1-s^2+s^2-1\} = \{u\} \text{ over } \{0\}$$

$$\{0\} = \text{nicht definiert}$$

$$T: 5 < -10 < -22$$

$$A: -13 < -7 < -2$$

$$I: 5 > -10 > 22$$

$$O: -13 > -7 > -2$$

$$N: \text{Term? } a-by=cx$$

$$R: \text{Gleichung? } 11cz+x-2a$$

$$T: \text{Term? } 5-10y+2z$$

$$S: \text{Gleichung? } 3-7+5a^2$$

$$X: \sqrt{x^2-2xy+y^2} = +(-x+y)$$

$$I: \sqrt{x^2+2xy+y^2} = +-(x+y)$$

$$E: \sqrt{x^2-2xy+y^2} = +-(x+y)$$

$$S: \sqrt{x^2+2xy+y^2} = +-y+x$$

$$K: -(r+t) = (-1)*r + (-1)*t = -r-t$$

$$I: -(r+t) = (-1)*r + (+1)*t = -r+t$$

$$D: -(r+t) = (-1)*r + (-1)*t = +r-t$$

$$A: -(r+t) = (+1)*r + (-1)*t = -rt$$